1 February 2017

Report to the Creditors

of

Equititrust Limited (Receiver Appointed) (In Liquidation) (Receivers and Managers Appointed) A.C.N. 061 383 944 ("the Company")

I refer to my previous reports and provide an update on the Liquidation of the Company.

To assist creditors this report has been prepared in the following headings:-

- Asset Realisations
- 2. Statutory Investigations
- 3. EIF Proceedings
- 4. EPF Proceedings
- 5. EIF Receiver Claim
- 6. Federal Court Examinations
- 7. Committee of Inspection8. Attachments

1. **Asset Realisations**

The Liquidators are continuing to liaise with the Receivers of the Equititrust Income Fund (EIF) and the Equititrust Premium Fund (EPF) in regards to their respective asset recoveries.

Statutory Investigations 2.

As creditors are aware from my previous report, ASIC has requested that a supplementary Section 533 report be prepared which the Liquidators are in the process of preparing.

3. **EIF Proceedings**

Creditors will be aware from my previous report of the proceedings commenced by the Liquidators in regards to the EIF. A chronology of the key dates in regards to these proceedings to date was attached in Schedule A of the previous report. Creditors are advised that there is no further update on the claim in regards to Paul Steer and KPMG since the previous report. Creditors are advised a meeting was held with the insurer's legal representatives in November 2016 in respect to a potential settlement however no settlement was reached.

SYDNEY

Level 40 2 Park Street Sydney NSW 2000 Australia

GPO Box 3555 Sydney NSW 2001

Ph: (612) 9263 2600 Fx: (612) 9263 2800

NEWCASTLE

Ph: (612) 4969 5521 Fx: (612) 4969 6059

PARRAMATTA

Ph: (612) 9687 2100 Fx: (612) 9687 2900

PENRITH

Ph: (612) 4721 8144 Fx: (612) 9263 2800

MELBOURNE

Ph: (613) 8678 1600 Fx: (613) 8678 1699

PERTH

Ph: (618) 6557 6200 Fx: (618) 9218 8950

BRISBANE

Ph: (617) 3211 1250 Fx: (617) 3211 1249

GOLD COAST

Ph: (617) 5538 2322 Fx: (617) 5526 8599

DARWIN

Ph: (618) 8943 0645 Fx: (618) 8943 0654

A member of AGN International Ltd. a worldwide association of separate and independent accountina and consulting firms



4. EPF Proceedings

Creditors will be aware from my previous report of the proceedings commenced by the Liquidators in regards to the EPF. A chronology of the key dates in regards to these proceedings to date was attached in Schedule B of the previous report. Creditors are advised that there is no further update on the claim in these proceedings.

5. EIF Receiver Claim

As creditors will recall, there are a number of claims between the Receiver of the EIF and the Liquidators which are currently subject to negotiations. Creditors will be provided with the outcome of these claims once they have been resolved.

6. Federal Court Examinations

Following the receipt of information from former directors of the Company and certain beneficiaries of the EPF, provided in confidence, I commenced investigations in relation to various transactions. A summary of the key events and action taken to date is listed below:

- AET SPV Management Pty Ltd ("AET") was a joint venture vehicle involving, amongst others, Morgan Stanley Australia Ltd and Balmain NB Commercial Mortgages Ltd. AET acquired the Australian loan book of Bank of Scotland International ("BOSI"). BOSI was a banker to the EPF and was owed approximately \$7 million ("the BOSI Debt").
- MS Asia Debt Acquisition Limited was incorporated in Hong Kong in June, 2012. In July, 2012, it acquired the BOSI Debt from AET, together with associated securities.
- I have arranged funding to further investigations into the above and to conduct a claim, should I decide to proceed. The litigation funder is Vannin Capital Operations Limited ("Vannin"). On 1 December, 2016, the Supreme Court of Queensland approved the Liquidators' entry into the litigation funding agreement with Vannin and also the retainer of solicitors, Russells, to continue the investigation of these matters and, subject to further review, to institute legal proceedings in relation to these matters, should I decide to proceed.
- The subject matter of the claims under investigation is highly sensitive. There are also issues of confidentiality and legal professional privilege. The claims are the subject of written opinions from two separate Senior Counsel. Those opinions, and substantial other evidence, were tendered to the Supreme Court of Queensland on the application for approval of the litigation funding agreement and the retainer of Russells. The proceedings in the Supreme Court of Queensland have, for those reasons, been sealed, by order of Justice Burns made on 1 December 2016.
- On 19 January, 2017, the Liquidators succeeded in an application to the Federal Court of Australia for orders for the examination of certain persons in relation to these matters. The application was heard by Justice Greenwood. The court's brief reasons are here: http://www.judgments.fedcourt.gov.au/judgments/Judgments/fca/single/2017/2017fca0016
- Creditors and investors will note the following from the judgment:
 - o In relation to the application under s 596B, the application is supported by an affidavit as required by s 596C(1). Section 596C(2) provides that the affidavit in support of that application "is not available for inspection except so far as the court orders". The statute thus contemplates that the factual circumstances in support of the application under that section will not be publicly disclosed except so far as the



Court orders. The affidavit of Mr Russell in support of the application for orders under s 596B addresses factual matters which seek to establish that each summons is directed to "the corporation's examinable affairs".

- Having regard to s 596C(2), I propose to be circumspect about the factual matters I recite in these reasons going to the question of whether the applicants have demonstrated that each summons concerns an examination about a corporation's examinable affairs.
- His Honour therefore made the following order:-
 - Subject to any matters of fact addressed by the Hon Justice Greenwood in reasons for judgment published arising out of the Court's consideration of an application by the applicants filed on 22 December 2016, the contents of the applicant's written outline of submissions dated 18 January 2017 be treated as confidential, pursuant to s 37AF of the Federal Court of Australia Act 1976 (Cth) (the "FCA Act") until further order and not be provided or disclosed to the public except with the leave of a Judge of the Court, having regard to s 37AG(1)(a) of the FCA Act.
- Finally, pursuant to Section 596C of the Act, the affidavit filed in the Federal Court for the orders for examination under Section 596B of the Act is not available for public inspection.
- In conformity with the approach of both Courts, the liquidators are, at this stage, unable to provide any more details of the claims which we are considering.
- The examinations will take place both in Brisbane and Sydney. The dates of the Sydney examinations are set for 8, 14 and 15 March 2017. At the time of writing this report only the first return date for the Brisbane examinations has been set to be held on 22 February 2017. I will inform creditors should further dates be set.
- For reasons of efficiency and economy, we propose to confine the first round of the
 examinations to certain examinees and also to secure certain documents from various
 companies, banks etc. Once this first round of examinations is concluded, the Liquidators
 will give further consideration to the claims under investigation. The Liquidators will then
 consult with Vannin. I may conduct further examinations either of persons already
 examined or of other persons, including, possibly, former officers of the Company. I may
 commence proceedings.

I expect that I will be able to provide more information once the first round of examinations has been concluded, since they will be conducted in public. Please accept the above as notice of the examinations as required by Section 596E of the Act.

7. Committee of Inspection ("COI")

I refer to the comments in my previous update in relation to the COI, in particular that there were insufficient numbers on the COI to allow it to achieve its purpose. Accordingly at the meeting of creditors convened and held on 21 October 2016, creditors resolved that the following people be appointed to the COI:

- Stuart Norton:
- Greg Heighes; and
- John Bristow.



8. Attachments

I attach the Liquidators' schedule of remuneration incurred for the period 1 September 2016 to 31 December 2016 at **Annexure A**. This can be summarised as follows:

Period	Remuneration					
(Month, Year)	(excl GST) (\$)					
September 2016	27,810					
October 2016	35,256					
November 2016	11,926					
December 2016	3,162					
Total	78,154					

ASIC Notices

Creditors should be aware that all advertisements in respect of insolvency matters are now located on the ASIC's website: http://www.insolvencynotices.asic.gov.au.

Should you have any queries regarding the winding up of the Company please do not hesitate to contact Nick Charlwood of this office.

Yours faithfully,

BLAIR PLEASH LIQUIDATOR

Equititrust Limited (Receiver Appointed) (In Liqudation) (Receivers and Managers Appointed) Remuneration Report For the period 1/9/16 to 31/12/16

on the continues and the first broadly strained	Introducer Spinish are existiNAT and a figure standard by	anvenencensverd.	Grasses and the administration of	STREET,	AS C. STANDARD STORY	Associated associated	SECTOTE STATES	Secure NET	Malerana	espessessesses	proved Strictles Course	vane altre estiente	are of the contract of	ers Misusseamenna	Market Control of the
Employee	Position	\$/hour	Total Hours	Total (\$)	Admin.	Admin.	Assets Hours	Asset	s (\$)	Creditor	Creditor (\$)	Investigation	SEASTING COAST THE COLUMN	THE RESTURE THE SHEAT AND	Litigation
					Hours	(\$)	Hours	图为意 识		Hours		Hours	(\$)	Hours	(\$)
Albarran Richard	Partner	640.00	11.80	7,552.00		\$ -		\$		7.90	5,056.00		\$ -	3.90	2,496.00
Gladman Steven	Partner	640.00	0.30	192.00		\$ -		\$		0.30	192.00		\$ -		
Hussain Shahin	Partner	640.00	4.40	2,816.00		\$ -		\$		4.40	2,816.00		\$ -		
Pleash Blair	Partner	640.00	26,00	16,640.00	0.80	\$ 512.00		\$	-	5.70	3,648.00		\$ -	19.50	12,480.00
Singh Jovan	Senior Associate	590.00	39.60	23,364.00		\$ -		\$		21.90	12,921.00	0.30	\$ 177.0	0 17.40	10,266.00
Gawlak Joanna	Senior Manager	525.00	0.30	157.50	0.20	\$ 105.00		\$		0.10	52.50		\$ -		-
Newman Philip	Senior Manager	525.00	0,20	105.00	0.20	\$ 105.00		\$					\$ -		
Cheng Ricky	Supervisor	430.00	0.20	86,00	0.20	\$ 86.00		\$			-		\$ -		
Frazer Alex	Supervisor	430.00	0.80	344.00		\$ -		\$		0.30	129.00		\$ -	0.50	215.00
Nguyen Alvin	Supervisor	430.00	10.00	4,300.00	2.40	\$ 1,032.00		\$		7.60	3,268.00		\$		
Siah Diane	Supervisor	430.00	5.10	2,193.00		\$ -		\$	-	5.10	2,193.00		\$ -		
Charlwood Nicholas	Senior 1	375.00	13.90	5,212.50	0.60	\$ 225.00	0.50	\$ 18	37.50	11.80	4,425.00		\$ -	1.00	375.00
Plath Andrew	Senior 1	375.00	0.40	150.00	0.10	\$ 37.50		\$		0.30	112.50		\$ -		
Arguelles Mary	Senior 2	330.00	0.80	264.00	0.80	\$ 264.00		\$			-		\$ -		
Keramos Nikita	Intermediate 1	300.00	5.80	1,740.00		\$ -		\$	-	5.80	1,740.00		\$ -		-
Byrne Catherine	Banking Administrator	280.00	0,20	56.00	0.20	\$ 56.00		\$			-		\$ -		-
Bhashyakarla Abhinav	Intermediate 2	275.00	31.20	8,580.00	3.90	\$ 1,072.50		\$		20.60	5,665.00	6,70	\$ 1,842.5	J [_
Fairley Luke	Intermediate 2	275.00	4.80	1,320.00		\$ -		\$	- 1	4.80	1,320.00		\$ -		-
Debono Annika	Junior 1	165.00	16.60	2,739.00	1.20	\$ 198,00		\$	-	15,30	2,524.50		\$ -	0.10	16.50
Yi Sophie	Junior 2	140.00	0.90	126.00	0.90	\$ 126.00		\$	-				\$ -		-
Fitzpatrick Linda	Administration Assistant	135.00	1.00	135.00	1.00	\$ 135.00		\$	-				\$ -		
Palermo Jane	Administration Assistant	135.00	0.60	81.00	0.60	\$ 81.00		\$	-		-		\$ -		
TOTAL			174.90	78,153.00	13.10	4,035.00	0.50	18	7.50	111.90	46,062.50	7.00	2,019.5	42.40	25,848.50
GST (10%)				7,815.30											
TOTAL (INCL. GST)				85,968.30				<u> </u>							<u> </u>